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A For Questions 1 to 4,

o draw a possible reference triangle. ¢ solve for the angle.

1 Solve. 0° =6 =90°

{a) c038:§ {b} sin 9:% (c) cos 8 =1
(d) sing =0 (e) cos =10 f sinf=1

7 Solve each of the following for 6. (Hint: Remember the reciprocal identities.)

{a) 3.606:2 {b) csc@:% _(c} secf =1
(d) tan O = 1 () tan 8 = /3 {f) cot =3

3 Solve cos 8 =3 for § under each condition. :
{a) 0°£6=90° (b) 0° <0 £360° .
{c) Why is the solution set different in (b)?

4 Solve for # where 0° = g <90°

() sin@:\/_—g (b) cscezf‘—

2 NG

{c) How do the answers to (a) and (b) compare? Why?

B Remember: You may need to use various algebraic skills. #&25

5 Solve for 6. 0° = 0 < 360°

(a) sin 6 :% (b) cos 6 = {76 () tan § =

— 5
{d) cotB:-—; ()] secﬂz——g ) cscb=—

11 Find the roots for each of the following. 0° <0 <90°
(a) cos® § = —cos ¥ (b) 2sin? @ —sin 6 =0
() sin?f — 6sinf+5=0 (d)4c0328+0036—320
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